EA966CA—1~—28
(RTULAREEYNNIF)

B

RIS CTHERBLEVEAD, Vv I OERNIARMEGRGEIERNTY,

- EIIF30° mERYZELTRTZIUTNREDTFiBERITELT,

- RABIOEERYEC05~15ELTRTAT Y OF Y —DMERDICHERLPILELS,

RZE & mEEE AN S
o BH3| L+01 | ¢di1 |¢p D+01 M

CA—1 4 6 ¥ 12 | XMax4
CA—2 4 8 * 12 [xM4x4
CA—3 5 6 * 14 | xMax4
CA—4 5 8 * 14 | XMax4
CA—5 6 8 * 15| xM4x4
CA—6 6 10 * 16| xM4x4
CA—7 8 8 13 16| xM4x4
CA—8 8 10 * 18 M4X4
CA—9 10 8 16 18 M4X4
CA—10[__10 10 * 20 M4X4
CA—11] 12 8 20 22 M4X4
CA—12[ 12 10 * 26 M5X6
CA—13| 13 10 * 26 M5X6
CA—14| 15 10 24 25 M4X4
CA—15| 15 12 * 28 M5X6
CA—16] 16 10 24 28 M5X6
CA—17] 16 12 * 28 M5X6
CA—18[ 17 10 26 30 M6X6
CA—19] 2 12 29 32 M6X6
CA—20] 20 15 * 32 M6X6
CA—21| 25 15 37 38 M6X6
CA—22| 25 18 * 42 M8X8
CA—23] 30 16 42 45 M8X8
CA—24] 30 20 * 49 M8X8
CA—25] 35 20 * 59 M8X8
CA—26] 40 22 * 72__|M10X12
CA—27| 45 22 * 75 |M10X12
CA—28[ 50 25 * 79 __|M10X12

FENER A
0, (Bt mm)



